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(v) EUZTH I GEI7 33 G 36 T 4 I & U Jd% Y97 6 bl F & |

(vi) F97-YF H GHT T FIF [9%c7 757 8 | a7 Uh- 3% aret did Fodl 4, g-al
FIc7 g1 o1 4, TR-TR 371 dici g I991 § 3K T:-: 3H] arct @ Fo1 7 1l
faweq 120 70 & | 08 3991 7 @ @907 0 & fabeq &1 I feifew |

(vii) T ik, JEFTHATIR, JAF GG K J97 & Tr9 JIed 14657 13T 7T & /

(viii) FAFA F T F1 IgHIT TETE |

WU F

J97 G&IT 1 & 20 T b 97 1 37 F 8 /

o7 G 1 8 10 7% Tglashetiq J97 8 | @& [d%ey g7 /|

1. Ifg AHIE 31 Tk vl @ 2 AA |A| =57, @ |2A'| T HH B

(A) -10
B) 10
(C) -40
(D) 40
2. ICATH I ML 2 AAMAZ=AT, A (I-A)3 + A TR 3
A) 1
B 0
C I-A
(D) I+A

3.  tan!(tan %”)Em T U 8

(A) 25—“
B) = ;“
(©) %"
™ = :"
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four Sections A, B, C and D. This question
paper carries 36 questions. All questions are compulsory.

(it)  Section A — Questions no. 1 to 20 comprises of 20 questions of 1 mark each.

(iti) Section B — Questions no. 21 to 26 comprises of 6 questions of 2 marks each.

(iv) Section C - Questions no. 27 to 32 comprises of 6 questions of 4 marks each.

(v)  Section D — Questions no. 33 to 36 comprises of 4 questions of 6 marks each.

(vi)  There is no overall choice in the question paper. However, an internal choice
has been provided in 3 questions of one mark, 2 questions of two marks,
2 questions of four marks and 2 questions of six marks. Only one of the choices
in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice type questions. Select the correct option.

1. If A is a square matrix of order 3 and |A| =5, then the value of | 2A’ | is

A -10
(B) 10
(C) -40
(D) 40
2. If A is a square matrix such that A2=A, then (I-A)3 + A is equal to
A 1
B) 0
) I-A
D) I+A

3. The principal value of tan—! (tan 3%) is

(A) 25—”
® =
(©) 3?”
D = 5“
85/1/1 |
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- A A A - A A
4. I ARG a =i1-2] +3k H AT b =21+ 1k W IAT I &, A
o= BT

A 0
B 1
-2
(®) ry
-3
(D) >

5. HAAA z = 0 % dead a1 g (- 1, 5, 4) § I ATl @1 1 HI FHIHT
2l

RN A A A A A
(A) r =—i+5j +4k +A(i+j)

B) T =—i+5]+@+n)k

© T =1-5)-4k+1k

D T =1k

6. HIfC 2T TTehal AU & fo=iy g1 § W F=li ! T grft

A 0

®) 1

©) 2

D) 3

sec? x dx SR %

N
'—‘,J;\;q

g
A -1
(B)

© 1
D) 2
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. . e AN N N —> A N .
If the projection of a =i1i-2j +3k on b = 2i+ Ak is zero, then the

value of A is

A 0
B 1
_2
(&) Y
-3
(D) Y

The vector equation of the line passing through the point (-1, 5, 4) and
perpendicular to the plane z = 0 is

RN A A A A A
(A) r =—i+5j +4k +A(i+j)
— AN A AN
(B) r =—i+5j +A4+0Mk

- A A A A
©) r =i-5j -4k +1 k
D T =1k

The number of arbitrary constants in the particular solution of a
differential equation of second order is (are)

A 0
B 1
Cc 2
(D) 3

sec® x dx is equal to

e i | 3

g
A -1
B) 0
© 1
D) 2
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8. Tog (4,-7,3) W y-318 W S T v hl FTS BN

(A) 33HT
(B) 4%
(C) 53HT8
(D) 73HTE
9. AR A3 B wdd weant &, &l P(A) = % 9 P(B) = i 2, @ PB'|A)

T B

1
@

1
(B) 3

3
© =
D 1

10. Rgs @RS % Mo € ¥ gam &9 % A 605 (0, 0), (4, 0), (2, 4)
T (0,5) 3 | AMS z = ax + by, &l a, b > 0 1 3fehan °H famgati (2, 4) Ao
(4, 0) GF1 W&, @

(A) a=2b
(B) 2a=b
(C) a=b

(D) 3a=b

J97 G&IT 11 G 15 a% & G4 Jo1 & @rct! €977 9RT |

11. 3If¢ 99 ay, a5 € A % fT (ag, ay) € R¥ (ay, a;) € R &I, d FH=F A
T qRTNT T R a8 |

12. flx) = [x], 0 < x < 2 GRI URWIYG Hgad O o x = _ W
IIhAT Tl BT = |

13. g 3egg A Il 3 x 28, A1 AR A’ i Hife gt
arerat
T it ey A fovm-wmfia segg g, A |
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8. The length of the perpendicular drawn from the point (4, —7, 3) on the

y-axis is

(A) 3 units
(B) 4 units
(C) 5 units
(D) 7 units

9. If A and B are two independent events with P(A) = % and P(B) = i, then

P(B' | A) is equal to

1
(A) 1

1
(B) 3

3
(C) 1
D 1

10. The corner points of the feasible region determined by the system of
linear inequalities are (0, 0), (4, 0), (2, 4) and (0, 5). If the maximum value
of z = ax + by, where a, b > 0 occurs at both (2, 4) and (4, 0), then

(A) a=2b
B) 2a=b
(C) a=b

(D) 3a=b

Fill in the blanks in question numbers 11 to 15.

11. A relation R in a set A is called , if (a;, ag) € R implies
(ag, a7) € R, for all ay, a5 € A.

12. The greatest integer function defined by f(x)=[x],0<x<2 is not
differentiable at x =

13. If A is a matrix of order 3 x 2, then the order of the matrix A’ is

OR
A square matrix A is said to be skew-symmetric, if
.65/1/1 | 7 . PT.O.
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14. % y2 = 8x % qoi-farg W HfAs 1 G @
T
TS gl ! T THE Y F 3 em/s T R W TG W R | I & W AR I
aﬁﬁwzcm%,?ﬁés%mﬁ cmz/sﬁaﬁa@?lﬁ@"ﬁl
15. @ fwgel A o B % fefy wRw wmm: OA = 2i - ) -k s
0B =2f - § +2k # | fag P, < Ywrwve AB# 2 : 1% sum # o
HT R, wAfdafgme
Y9 G 16 & 20 3l GIen I a1 5T 8 |

2 0 0
16. 3Ifc A=|-1 2 3|8, d A(adjA)Fd HIfST |
3 3 5
17. Td shifre
J.x410gxdx
AT
ElTﬂili\HQ:
j 2x dx
3xz+1
18. HH Id HIfT :
3
I|2X—1|dx
1

19. d™ H 52 T AT IS YR H Wl TS TSE! H H AGTSAT q«T o
TIETIHT % Th-Ush oL o 31 9l (HehTel T | Teh Uil e 4T 8N Shied 1 <l
A ! TTRrehdl HTd I |

20. A hIfT ;
I dx
J9 — 4x2
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14.

15.

The equation of the normal to the curve y2=8x at the origin is

OR

The radius of a circle is increasing at the uniform rate of 3 cm/sec. At the
instant when the radius of the circle is 2 c¢m, its area increases at the rate

of cm?/s.

—> A A A
The position vectors of two points A and B are OA = 2i — j — k and
—> A A A
OB = 2i — j + 2k, respectively. The position vector of a point P which

divides the line segment joining A and B in the ratio 2 : 1 is

Question numbers 16 to 20 are very short answer type questions.

2 0 0
16. If A= -1 2 3|, then find A (adj A).
3 3 5
17. Find:
I x4 log x dx
OR
Find :
J. _2x I
3\/x2 +1
18. Evaluate:
3
J | 2x — 1| dx
1
19. Two cards are drawn at random and one-by-one without replacement
from a well-shuffled pack of 52 playing cards. Find the probability that
one card is red and the other is black.
20. Find:
J' dx
V9 — 4x2
.65/1/1 |
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21.

22,

23.

24.

25.
26.

8511 |

fag shifsre fos -

sin~1 (2x y1-x2) =2 cos! X,

1

— <xX<
J2
U7

f:R, - (7, =), f(x) = 16x% + 24x + 7 G IRATYA Tehsh! 3N AT=BIEh B
T fam i, &t R, 9t gTenes aredfoss SEnell o1 9q= 8 | %o
i S HId hIT |

2
af x=at? y=2at A, A :_g T A |
X

g% y = x5 — 3x2 —4x%éﬁ§mﬁﬁﬁﬁﬁq¢wm%@
4x+y—3=0% GUI & |

@Waﬁﬁw@ﬁnﬁmaﬁm ?;ﬁIb%vqucldﬁ SH
a—51+63—2k3ﬁ'{ b= 71+6] +2Kk.

HYAT

WWWWWWWWWWM “b @m3e
T frefug 8, S&t

—> A A A
a=1-j +2k,

—> A N
b=3i+4j —5k dA
e /.\ A AN ¢
c=2i—j +3k B |

k T 98 HF F1d shifore ek fou W@l x = — y = kz den
X-2=2y+1=-2+1THGR RTAH 2 |

Teh o9 Ag X W, g o<t T < IResdr 30% 8 | 39 =g X W a9 §
U AR @ feq g8 s<ft < Ty <6 wilResar == g 2
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SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. Prove that sin~1(2x /1 — x2 )=2cos1x 1.

, % <x<
OR

Consider a bijective function f: R, — (7, «) given by f(x) = 16x2 + 24x + 7,

where R, is the set of all positive real numbers. Find the inverse function

of f.

d2
22. If x = at2, y = 2at, then find —327
dx
23.  Find the points on the curve y = x3 — 3x2 — 4x at which the tangent lines
are parallel to the line 4x + y — 3 = 0.

— —
24. Find a unit vector perpendicular to each of the vectors a and b where
— A A A —> A A A
a=5i+6j -2k and b=7i+6j +2k.
OR
Find the volume of the parallelopiped whose adjacent edges are
- - —
represented by 2a ,— b and 3 ¢ , where

A A A
1

i—j +2k,

N N AN
3i+4j —5k,and

a
%
b
—> A A A
c =2i-j +3k.

25. Find the value of k so that the lines x =—y =kz and

x—2=2y+ 1=-1z+ 1 are perpendicular to each other.

26. The probability of finding a green signal on a busy crossing X is 30%.
What is the probability of finding a green signal on X on two consecutive
days out of three ?

165111 | 11 P.T.0.
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WUg T
J97 G&IT 27 G 32 T b G974 37l FT & |

27. WM N JThd H&A13T 1 9= 8 | 69 R, N x N W “(a, b) R (¢, d) I¢ 3R
had Ifd ad = be, 4t a, b, ¢, d € N & fou” gry uftfva 2 | fe@mse f6 gy

R U qoIdl €469 7 |
28. 3fe y=ex2cosx+(cosx)x%,?ﬁg—z3lﬁzﬁﬁ'Q|
29. A hIVT :
jsec3xdx

30. 3Taehdd GHIR y oY dx = (y3 + 2x eY) dy 1 TUeh & 1A T |
arera
AThA THIHT x d—y:y—xtan (XJ,GI%TX:l‘Hy:%%,W%lﬁ?IQSE
X

dx
T HIfST |

31. T Hrlek AN U g0y sl Hsll a1 HRAT a1 gHl o FAeEl 7 fow
il 7 | Fom o T 39 9@ T 50,000 & 37 356 918 Afehan 35 TEqadi
I T o fIT TIM 399 B | Th HET &1 T oI T 1,000 T TH HA Hl
%I Ted T 2,000 8 | 9 AR i Teh HEl d=ehl T 150 T Teh U ol =t
T 250 1 A9 AR AT 3 | SR THE & foiw sAferepan v 1fid & &
foTu wes g TU™HE TS 9913 SR IR oty @ guEn i g S |

32. TAAIMITRLTTE | 94 I § 3 ATA qAT 5 HicAt Tie & Seifeh oA 11 H
A A T 3 el e & | 9 18 Ot 118 U g ATgesan wuMiaRa i S
7 3R qeaeend 9t 16 € T 15 Agesdl el St ¢ | afg o8 Fehreft 8
g el g B, O TAMFARAG I TS g b HId TT b g I TRERAT F1@
HIT |

AT

Teh alsl H 5 AT, 2 T%e AT 3 Hict 76 & | Ueh-Ush ohich, ToHT TTEeoT &,
39 HAW | 3 T AgeA el ATt § | Whe TGl hl TEAT I TTRERAT e
3T ShIfST | TehTet! TS H%he Tigl shl T&AT <1 A1ET 9 JEOT i J1d ity |
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SECTION C

Question numbers 27 to 32 carry 4 marks each.

27.

28.

29.

30.

31.

32.

65111 |

Let N be the set of natural numbers and R be the relation on N x N
defined by (a, b) R (¢, d) iff ad = be for all a, b, ¢, d € N. Show that R is an

equivalence relation.

_ x%cos X < dy
If y=e + (cos x)X, then find e
X

Find :

j secd x dx

Find the general solution of the differential equation

y eY dx = (y3 + 2x eY) dy.
OR

Find the particular solution of the differential equation

X d—y:y—xtan (X), given that y = T atx=1
dx X 4

A furniture trader deals in only two items — chairs and tables. He has
T 50,000 to invest and a space to store at most 35 items. A chair costs
him ¥ 1,000 and a table costs him ¥ 2,000. The trader earns a profit of
T 150 and ¥ 250 on a chair and table, respectively. Formulate the above

problem as an LPP to maximise the profit and solve it graphically.

There are two bags, I and II. Bag I contains 3 red and 5 black balls and
Bag II contains 4 red and 3 black balls. One ball is transferred randomly
from Bag I to Bag II and then a ball is drawn randomly from Bag II. If
the ball so drawn is found to be black in colour, then find the probability
that the transferred ball is also black.

OR

An urn contains 5 red, 2 white and 3 black balls. Three balls are drawn,
one-by-one, at random without replacement. Find the probability
distribution of the number of white balls. Also, find the mean and the

variance of the number of white balls drawn.

13 . P.T.O..
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Qs ¥

J97 G&IT 33 G 36 T b J97 6 37H] HT 5 |

1 2 -3
33. dAfc A =13 2 —2] B, @ A"l F@ hIfGw 3 HHT TAT Hieh
2 -1 1
fFatafea gt e =1 gt Td hifSiT -
Xx+2y—-3z=6
3x+2y—-2z=3
2x —y+z=2
SrerE
TROTehT o TUTEHET 1 TR Shieh, g Hifsr foh
b+c)? a®  be
c+a)® b2 ca|=(a-b)(b-c)c—a)(a+b+c)(a2+b2+c?
a+b)? ¢ ab
34. THTReN fafy @, By e ofid (2, - 2), 4, 5) @ (6, 2) &, ¥ B &
FABA A hIT |
35. Te@Emy fof A1 r 9 96 h o TR WF & ST SAURAH AT h
-G ST ohl HaTs, WP hl HdTs hl Th-[I8T8 & IR o I Uhad
W,%%mwgﬁmél
36. 34 GHAA I THIRU HTd hif, Srem fag A2, 1, — 1) feora & o St wwae
2x +y—z=3 AN x+ 2y + z =2 %l Tldesed W@ o TA&aq 8 | Ied qHdA
q y-31& < S I HI0 | G HINT |
AT
W@ T =31-2] +6k)+02i- ] +2k)dmTEmaa ¥ .(i- ) + k)=6
% Ufdeoed fog Q 1 fog P(— 2, -4, 7) & gt W@ IS | W@ PQ &1 |few
gt oft feafau |
65/1/1 |
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SECTION D

Question numbers 33 to 36 carry 6 marks each.

1 2 -3
33. If A=|3 2 —2 |, then find A1 and use it to solve the following
2 | 1
system of the equations :
Xx+2y—-3z=6
3x +2y—2z=3
2X —y+z=2
OR

Using properties of determinants, prove that

b+c)? a2  be
c+a)2 b?2 cal|=(@-b)(b-c)(c—a)(a+b+c)@2+b2+c2).

@a+b? ¢2  ab

34. Using integration, find the area of the region bounded by the triangle
whose vertices are (2, —2), (4, 5) and (6, 2).

35. Show that the height of the right circular cylinder of greatest volume
which can be inscribed in a right circular cone of height h and radius r is

one-third of the height of the cone, and the greatest volume of the

cylinder is % times the volume of the cone.

36. Find the equation of the plane that contains the point A(2, 1, —1) and is
perpendicular to the line of intersection of the planes 2x + y —z = 3 and
X + 2y + z = 2. Also find the angle between the plane thus obtained and
the y-axis.

OR

Find the distance of the point P(— 2, —4, 7) from the point of intersection
Q of the line ? =(3/i\—23'\ +612)+ k(2/i\—fi\ +212) and the plane
? . (/i\ — 3\ + 12) = 6. Also write the vector equation of the line PQ.

165111 | 15 : .





